1.7OBUH *ttE = =22 DBU % 6 -

MT & < MX 7 =
MT103 pacs.008
72:Sender to Receiver Information | pacs.008 : Instruction For NextAgent(zx)
JACC/FOBU <InstrForNxtAgt><InstrInf>/ACC/FOBU</InstrInf>
</InstrForNxtAgt>

#1:% 18 Instruction For NextAgent ¢ @& * % 1 {7 » P2 % 2 {F7%52 o
<InstrForNxtAgt>

<InstrInf>/OCMT/TWD7500000.00</InstrInf>
</InstrForNxtAgt>
<InstrForNxtAgt>

<Instrinf>/ ACC/FOBU</InstrInf>

</InstrForNxtAgt>

2.DBU%R 2 2 OBU: “HtE = % B :

MT % = MX 7 =~
MT103 pacs.008
72:Sender to Receiver Information | pacs.008 : Instruction For NextAgent(;1)
/ACC/D20ON <InstrForNxtAgt><InstrInf> /ACC/D2ON</InstrInf>
</InstrForNxtAgt>

#1:% 18 Instruction For NextAgent ¢ @& #* % 1 {7 » P3c % 2 (79432 o
<InstrForNxtAgt>

<InstrInf>/OCMT/TWD7500000.00</InstrInf>
</InstrForNxtAgt>
<InstrForNxtAgt>

<Instrinf>/ ACC/D2ON</InstrInf>

</InstrForNxtAgt>

3.pacs.009PvP(PvP 2 % » 2 DBU® ! 2 DBUE = & i)

<Fr><FIId><Finlnstnld><BICFI>AAXATWTPXXX</BICFI></FinInstnld></FIId></Fr>
<To><FIld><FinInstnld><BICFI>BBXBTWTPXXX</BICFI></FinInstnld></FIId></To>
<BizMsgldr>AA2012000001</BizMsgldr>

<MsgDefldr>pacs.009.001.08</MsgDefldr>

<CdtTrfTxInf>
<Pmtld><Instrld>AA2012000001</InstrId>
<EndToEndId>AFPVP000001</EndToEndId>
<UETR>1£a50280-5426-4777-bd20-fébcf78cba7e</UETR></Pmtld>
<PmtTpInt><SvcLvI><Prtry >PVP</Prtry></SvcLvI>
<LclInstrm><Prtry>SPOT</Prtry></LclInstrm>
<CtgyPurp><Prtry>TREA</Prtry></CtgyPurp> </PmtTpInf>
<IntrBkSttimAmt Ccy="USD">250000.00</IntrBk SttlmAmt>

<InstrForNxtAgt><InstrInf>/OCMT/TWD7500000.00</InstrInf></InstrForNxtAgt>
<InstrForNxtAgt><InstrInf>/ACC/2DBU</InstrInf></InstrForNxtAgt>
</CdtTr{fTxInf>




